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Write the system of equations in triangular form using Gaussian elimination. Then solve the system.
5x — 5y — 5z=35 3x + 5y +8z=-20
—x+2y—3z=-12 —x+2y—4z=18
3x—2y+7z=30 —6x+4z=0
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Solve each system of equations.

X-—y+z=
—x+2y —32=-5
2x - 3y +5z=8

¥ alag LAY Mo ax

dx+ 9y + 16z =2
—x—2y—4z=-1
2x+4y+9z=-5
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Solve each system of equations.

Sx-2y+z=2
dx-y-6z=2

SBx-y+z=1

https://t.me/mathbook12GEN

Jstall (e (Al Y damg Ja ¢y g Ui

https://t.me/alllaaam82
il 5 cililaial g o 55l 5l

¥ alagdl plaY Yo uar

3x+5y-8z=-3
2x +5y-2z=-7

x-y+4z=-1
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Solve each system of equations. Y slagd) pliay A a
3x-8y+19z-12w =6

2x -4y +10z = -8

x-3y+5z-2w=-1

3w+x-2y-3z=14
-w+x-10y + z =-11

2w-x+4y +2z=-9
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Use an inverse matrix to solve the system of equations, if possible. ‘_,.'n..i O] ¥ alag ‘aLlé.’n Joud dcwuSall 239.’4..4.,.” ‘n.a.-i.:.ul
2x—3y=-1 —3x + 9y =36
—x+5y=3 7x — 8y = —19

17



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook12GEN

https://t.me/mathbook12GEN ey

@ﬂﬁhhﬂié&ﬂ/u&)ﬂ\d&
050-2509447 SSPEIESIS Sy ) Clilaial 5 o 55ka 5

Luse 48 ghian aladiuly 3x3 AU Ja ol

d.ij,-.. A g .Lll,.s 1y Oldow A ;'_,.uu AED 20,000 @ ,u Jqf-'i.uﬁ Adlyd! 43,.14.”

o LILE 3 gdas S U.I.s'ﬂ adgied) Wilad) Cld O HLdiw) eSSy 6% o 3% 9 10% g
cols 1510 LAED 1340 alo S o dole dawgio o UJ Ao et g ‘5‘,:-?1 O yletiw B
u.o.h.m.ﬂ UJ yiitivgd | a.l...o.ﬂ Glas) B Ggl...u.l 6% Sslad) ‘53 a1 U‘ &leo leciw ..u,..
S S u’ o sleiw! P33 a_.l...g.ll Gasy pﬁ (i (it y B

[HIN
(o0}



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook12GEN

https://t.me/mathbook12GEN https://t.me/alllaaam82

@ﬂﬁhhﬂié&ﬂ/u&)&d\d&
050-2509447 SSPEIESIS Sy ) Clilaial 5 o 55ka 5

ol S ducld U.wLw:ﬂ A 9420l

AX alslaal) lasassy ol winad) o 1 3 adasid) ¥slasl) e 1 allas 5 cdlolaol) Adsaine g8 A o)) (o aul
T aslea) wie s pllail) ags gl Jod) ols det(A) # 0 olS 1ifs = B

Ayl 1Al A3l 1AL

1= qar*2= Jar *3 = Jap - *n T Jap
det(A) = 0 susdl U8 131y B anl) sgasd) sgens A Galsd) i speall Jlaul A Gle Jpasd! g Cos
Aol o Sl ¥ sae Ll ) Jo L) Gud L) AX = B le

2x2 allai Jal ja) S 3acld afadin)

g Yo s d (] chedaded) ¥ slaed! pLAS o slam¥ ol S dield pasuisl
Use Cramer’s Rule to find the solution of the system of linear equations, if a unique solution exists.
3x;+2x,=6

—9x +3y =38

2x—y=-3
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Use Cramer’s Rule to find the solution of the system of linear equations, if a unique solution exists.
—x—2y=—4z+12
3x—6y+z=15
2x+5y+1=0

8x + 12y — 24z = —40
3x — 8y + 12z =23
2x + 3y — 6z = —10
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